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SECOND YEAR LL.B. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2010.

Third Semester
(Common for II/III and VIV candidates)

(Regular and Supplementary)

Paper II — PROPERTY LAW INCLUDING TRANSFER
OF PROPERTY ACT AND EASEMENT ACT

Time : Three hours Maximum : 100 marks
PART A — (6 x 4 = 24 marks)
Answer any SIX questions.
All questions carry equal marks.

Write short notes on the following :
. Immovable property. «
U Subrogation.

8~ Charge on Immovable property.
4/ Vested Interest.

J/ Notice. -



[image: image2.jpg]6.  Rule in Tulk Vs Moxhy.
7..‘ Doctrine of holding out.
8.  Rule against in alienability.
9. Lis pendense.
10, Tenanancy-at-sufference.
PART B — (2 x 18 = 36 marks)
Answer any TWO questions.
All questions carry equal marks.

\i/./ “Property of any kind may be transferred except as
other wised provided by this Act” Elucidate the
statement with reference to section 6 of the
T.P. Act.

127 Explain the inter relationship provided under the
T.P. Act regarding marshalling and contribution.

13. Explain the circumstance in which a lease can be
terminated.

w Explain the provisions regarding part-performance
under the T.P. Act.
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17.

18.

PART C — (2 % 20 = 40 marks)
Answer any TWO questions.

All questions carry equal marks.

‘A’ permitted to draw water from his well for the
last 20 years by ‘B’ but does not allow ‘C’ who is
residing near by ‘C’ takes water from ‘B. ‘A’
refuses to permit ‘B’ to draw any more water can
‘B’ claim any easement right.

‘A’ makes a gift to ‘B’ with a promise that if he
marries without the consent of ‘C’ and ‘D', it shall
go to ‘E’. ‘D’ dies, ‘B’ marries with consent of ‘C.
Can E claim the property?

A sues B for specific performance of a contract to
sell property executed by B pending the but, B
sells the same property to C who had no notice of
the pending litigation. A obtains a decree, can be
execute it against C.

‘A’ by a simple deed transferred his property X’ to
‘B’ upon a condition that ‘B’ should transfer his

property ‘Y’ to ‘C’. ‘B’ refused to part with property
Y to ‘C. Discuss the rights of ‘B’, ‘C’ and the legal
obligations of ‘A’s heir.
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